

St. Louis County, Minnesota



Date of Report: 5/13/2025 4:44:27 PM

			General De	etails					
Parcel ID:	420-0010-04	110							
		Le	gal Description	on Details					
Plat Name:	Plat Name: LAVELL								
		Fownship F		Range		Lot	Block		
	25	55		19		-	-		
Description:	SW 1/4 OF	NVV 1/4	Taynayar D	ataila					
Taxpayer Nam	e KOEPKE CL	IPTIS	Taxpayer D	elalis					
and Address:	9691 E LIND								
	ZIM MN 557								
Owner Name	KOEPKE CL	IRTIS K	Owner De	tails					
		Pay	able 2025 Tax	c Summary					
2025 - Net Tax \$899.00									
	2025 - S	pecial Assessme	ents	5.00)				
	2025 - Total Tax & Special Assessments \$984.00								
		Curren	t Tax Due (as	of 5/12/2025	5)				
	Due May 15		Due November 15			Total Due			
2025 - 1st Half Tax \$492.		0 2025 - 2	2025 - 2nd Half Tax \$492.00			2025 - 1st Half Tax Due \$492.00			
2025 - 1st Half Tax Paid		0 2025 - 2	nd Half Tax Paid	\$0.00 2025 -		25 - 2nd Half Tax Due	\$492.00		
2025 - 1st Half Due \$492		0 2025 - 2	2025 - 2nd Half Due		\$492.00 2025 -		\$984.00		
		Parcel Details							
Property Addr	ess: 9691 LINDS	TROM RD E, ZI	M MN						
School Distric	t: 2142								
Tax Increment									
Property/Hom	esteader: KOEPKE, CI	JRTIS K & JENN							
	Usersataad		ent Details (20	-	-	Def Dide	Net Tees		
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	I Def Bldg EMV	Net Tax Capacity		
101	1 - Owner Homestead (100.00% total)	\$35,700	\$181,700	\$217,400	\$0	\$0	-		
121	1 - Owner Homestead (100.00% total)	\$27,700	\$0	\$27,700	\$0	\$0	-		
	Total:	\$63,400	\$181,700	\$245,100	\$0	\$0	1878		



St. Louis County, Minnesota



Date of Report: 5/13/2025 4:44:27 PM

			Land De	etails						
Deeded Acres:	40.00									
Waterfront:	-									
Water Front Feet:	0.00									
Water Code & Desc:	W - DRILLED WELI									
Gas Code & Desc:	-	-								
Sewer Code & Desc:	S - ON-SITE SANIT									
		ARTSISI								
Lot Width:	0.00									
Lot Depth:	0.00									
The dimensions shown are r	not guaranteed to be surv	/ey quality. /	Additional lot	information can be	e found at	ax@stlouiscountymp.gov				
https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov. Improvement 1 Details (HOUSE)										
Improvement Type	Year Built	-		Gross Area Ft ²	-/ Basement Finish	Stula Cada & Daga				
Improvement Type		Main Floor Ft ²				Style Code & Desc.				
HOUSE	1970	992		992	U Quality / 0 Ft ²	RAM - RAMBL/RNCH				
Segment	Story	Width	Length	Area	Foundat					
BAS	1	5	16	80	BASEME	NT				
BAS	1	24	38	912	BASEME	NT				
DK	1	8	16	128	POST ON GI	ROUND				
Bath Count	Bedroom Coun	t	Room C	ount	Fireplace Count	HVAC				
1.0 BATH	3 BEDROOMS		-		0	CENTRAL, FUEL OIL				
		Impro	ovement 2	Details (DG)						
Improvement Type	Year Built	Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc				
GARAGE	1970	1.040		1,040	-	DETACHED				
Segment	Story	Width Lengt		Area	Foundat	-				
BAS	1	5		1,040	FLOATING SLAB					
BAG	I	20	40	1,040	FLOATING	SLAD				
		Improve	ement 3 D	etails (SAUNA	()					
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
SAUNA	1987	192		192	-	-				
Segment	Story	Width Length		Area	Foundat	ion				
BAS	1	12	16	192	FLOATING	SLAB				
L		Improv	omont 1 F	Antoile (PARN)	1					
	Veen Decili	•		Details (BARN)		Otala Orala A Dara				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
BARN	1915	67		1,344		-				
Segment	Story	Width	Length	Area	Foundat					
BAS	2	24	28	672	POST ON GI	ROUND				
		Improv	ement 5 D	Details (10X12)						
Improvement Type	Year Built	Main Fle		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	12		120	<u>-</u>					
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	10 12		120	FLOATING					
Improvement 6 Details (11X15)										
Improvement Type	Year Built	Main Fle	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
LEAN TO 0 165 -					-					
Commont	Story	Width	Length	Area	Foundat	ion				
Segment	Otory	That	Longai	71100	i oundui					







Date of Report: 5/13/2025 4:44:27 PM

		Impro	vement 7 Detai	ls (6X8)						
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	Area Ft ² B	asement Finish	S	Style Co	ode & Desc.		
STORAGE BUILDING		48	3	48	-			-		
Segmer	nt Stor	y Width	Length	Area	Found	Foundation				
BAS	1	6	8	48	POST ON GROUND					
		Improv	ement 8 Details	s (17X40)						
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	Area Ft ² B	asement Finish	S	Style C	ode & Desc.		
STORAGE BUILDIN	IG 0	68	0	680	-					
Segmer		y Width	Length	Area	Foundation					
BAS	1	17	17 40 680		POST ON GROUND					
	:	Sales Reported	to the St. Loui	s County Audi	tor					
Sal	le Date		Purchase Price			CRV Number				
01	/2004	\$25,107 (T	\$25,107 (This is part of a multi parcel sale.)			157071				
		A	ssessment His	tory						
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	B	ef dg VV	Net Tax Capacity		
	101	\$51,800	\$147,400	\$199,200	\$0	\$	60	-		
2024 Payable 2025	121	\$25,400	\$0	\$25,400	\$0	9	50	-		
-	Total	\$77,200	\$147,400	\$224,600	\$0	\$	50	1,701.00		
	101	\$44,400	\$133,400	\$177,800	\$0	\$	60	-		
2023 Payable 2024	121	\$21,200	\$0	\$21,200	\$0	\$	60	-		
	Total	\$65,600	\$133,400	\$199,000	\$0	\$	50	1,560.00		
	101	\$41,800	\$123,600	\$165,400	\$0	\$	60	-		
2022 Payable 2023	121	\$19,600	\$0	\$19,600	\$0	9	50	-		
	Total	\$61,400	\$123,600	\$185,000	\$0	\$	50	1,425.00		
	101	\$30,300	\$106,700	\$137,000	\$0	\$	60	-		
2021 Payable 2022	121	\$18,700	\$0	\$18,700	\$0	9	50	-		
-	Total	\$49,000	\$106,700	\$155,700	\$0	\$	60	1,118.00		
		٦	ax Detail Histo	ory		<u> </u>				
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land	Taxable Bui MV MV	lding	Total	Taxable MV		
2024	2024 \$1,079.00 \$85.00 \$1,164.00 \$6		\$61,294	4 \$114,758		\$176,052				
2023	\$965.00	\$85.00	\$1,050.00	\$56,828 \$104,225		25	\$161,053			
2022	\$789.00	\$85.00	\$874.00	\$45,193	\$84,121		9	\$129,314		







Date of Report: 5/13/2025 4:44:27 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.